Dividing Money (J)

10.

Calculate each quotient.

6) $45.60 2. 8) $24.00 3. 5) $19.00
2 $9.20 5. 3) $18.00 6. 8) $48.00
4) $15.20 8. 5) $6.00 9. 9) $63.00

If 6 identical shirts cost $72.00, how much did each shirt cost?

Math-Drills.com




Dividing Money (J) Answers

10.

$ 7.60

6) $45.60
—$42.00

$3.60
—$3.60

$0.00

$ 4.60
2) $9.20
—$8.00
1.20
—$1.20

0.00

<L | PR

$ 3.80

4) $15.20
—$12.00

$3.20
—3$3.20

$0.00

Calculate each quotient.

$ 3.00

8) $24.00
—$24.00

$0.00

$ 6.00

3) $18.00
—$18.00

$0.00

$1.20

5) $6.00
$5.00

$1.00
—$1.00

$0.00

$ 3.80

5) $19.00
—$15.00
$4.00
—$4.00

$0.00

$ 6.00

8) $48.00
—$48.00

$0.00

$ 7.00

9) $63.00
—$63.00

$0.00

If 6 identical shirts cost $72.00, how much did each shirt cost? $12.00
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